
 

 

WTA-SJL 

Wedgetail Accessory Suzuki Jimny Ladder 

Fitting Instruction 

WTA-SJL_Fitting_Rev1 Updated  

Updated: 2 SEP 2024 
COPYRIGHT TRADESMAN ROOF RACKS |WEDGETAILRACK.COM.AU 

Congratulations on the purchase of your Australian made Wedgetail Roof Rack product. 

Please read and follow the instructions carefully to ensure correct fitment. 

Contact us if any parts appear missing, incorrect, or damaged. 

Contact us if any question about the size of platform to ensure the correct fitment 

Tools Required: 

• Hex key (5mm)     • Socket • Spanner (13mm,17mm) 

x1 

 2 
WTA-SJL Jimny Door Bracket 

x1 

M6 X 50 Hex Bolt 
 3 

x1 

WTA-SJL Jimny Main Ladder 
 1 

x1 

M6 Nyloc Nut 
 4 

Gutter Rubber 

x4 

 6 
M8 Nyloc Nut 

x4 

M8 x 20 Sems Black 
 5 

x4 

8mm Flat Washer 
 7 

x1 

 8 

x1 

 9 Foam Tape 

Kit Content 

x3 

 10 M10 Mud Washer 



 

 

WTA-SJL 

Wedgetail Accessory Suzuki Jimny Ladder 

Fitting Instruction 

WTA-SJL_Fitting_Rev1 Updated  

Updated: 2 SEP 2024 
COPYRIGHT TRADESMAN ROOF RACKS |WEDGETAILRACK.COM.AU 

 

 

• Remove the spare wheel cover and spare wheel from the vehicle.   

• Remove the black trim covering the lower door hinge and discard. 
1 

 

3 
• Remove the spare wheel bracket, add the M10 Mud washers behind the lower 2 bolts and the top 

left bolt, and loosely secure to 

the vehicle.  

• Now mount the spare wheel 

ladder bracket loosely to the 

vehicle. 

• Remove the lower 2 door hinge bolts 

• Now secure the door hinge spacer and the door bracket with the factory door hinge bolts  2 



 

 

WTA-SJL 

Wedgetail Accessory Suzuki Jimny Ladder 

Fitting Instruction 

WTA-SJL_Fitting_Rev1 Updated  

Updated: 2 SEP 2024 
COPYRIGHT TRADESMAN ROOF RACKS |WEDGETAILRACK.COM.AU 

 

 
• Attach the rubber to the top of the rear door and foam tape to the 2 tabs on the ladder and 

attach to the door  4 

 

• Bolt the ladder to the lower door hinge using M8 Bolts and loosely tighten the bolts  

• Bolt the spare wheel bracket to the ladder using M8 Bolts and loosely tighten the bolts  

 

5 

6 
• Now adjust the ladder and tighten all the bolts starting with the lower door hinge and then 

the spare when bracket.  

• Now tighten the 4 spare wheel bracket bolts and fit the spare wheel and cove to the vehicle 

Thank you for your purchase.  

Wedgetail by Tradesman Roof Racks  

Innovation through Inspiration 


